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No. | $R&5E AR | AIEEAR FEROBMRGER DR TR EEROFER 5| kE & B | BREAR | (VLA | A | HEHK e #&
HkE ne-TEQ/m| ng-TEQ/ | ng-TEQ/ | pg-TEQ/L

1 R7.5.29 R6.4.18 | ERAIFETKE PIIFEREL 42— (28F) |ZBHBEERS—2—2 5a 5833kg/h | BE [0.0000016 1
1 R7.5.29 R6.4.18 0.0 3| RERIF DT OB ITEL RIFEREF<0.034
1 R7.5.29 R6.4.18 | ERAIIFETKE FNFEEELL2—HEK) | ZBHBERI—2-2 18 |439,156m/8 0.00068 10
1 R7.5.29 R6.10.17 | B ERPIIGRETKE PIIERELL4— QSR [EMHBFERI—2—2 5a 11,667kg/h| BE  [0.0000015 1
1 R7.5.29 R6.10.17 0.0 3| RERIF DT OB ITEL RIFEREF<0.034
1 R7.5.29 R6.4.18 | ERPJIFETKE PIBEBRELI—UEF) |ZHHEER3—2—-2 5a 10417kg/h| 7 0.001 0.1
1 R7.5.29 R6.4.18 0.0 3| MEBVRIF DO IFEL BIFEREF<0.034
2 R6.10.24 R6.8.26 | iR Rt = REIZE =@mtEtn2—44-1 5b 2,600kg/h | B% 28 5
2 R6.10.24 R6.9.2 0.0041 3
2 R6.10.24 R6.9.2 0.0012 3
3 R7.5.29 R6.11.24 |JFEEMAM A4 REIEM(BERUF) EEHHM3—435—1 2 30,000kVA| BE 0.57 5| ERBENDELDTHHARDH
4 R6.6.5 R6.4.11| BARMMASH EMIE ENmiI4—-3—-39 5b 2,000kg/h | B% 29 5
4 R6.6.5 R6.4.12 0.13 3 RENREAF DO MRTR L HT,L
4 R6.6.5 R6.4.12 15a |27,793m/B| BE 0.0032 10
5 R6.8.15 R6.5.22 |RAFARREME F_THHVEHRZOSEHF) |EMHHMAEI107—1 5a 6,188kg/h | #7 |0.00000003 0.1|R6EE1EIB
5 R7.4.23 R6.8.22 0.000081 0.1|R6EE2E B
5 R7.4.23 R6.11.6 0.0 0.1|R6FEE3EE AIFEHFEE0.0066
5 R7.4.23 R7.3.3 0.0000009 0.1|R6FEE4REI B
5 R6.8.15 R6.5.7 | MM EXRBHEME B-THAHNERRCEE) |EMmAmAE107—1 5a 6,188kg/h | % | 0.000000051 0.1|R6EE1EIB
5 R7.4.23 R6.8.23 0.000000042 0.1|ReERE2E B
5 R7.4.23 R6.11.7 0.000000039 0.1|ReEEE3E B
5 R7.4.23 R7.1.9 0.000000030 0.1|R6EE4E B
5 R6.8.15 R6.6.13| R EERBERME F_ITHCHNEHE | EmiimAE 107 —1 5a 1.7 3|1-25FiE. ReEEIBE
5 R7.4.23 R6.11.14 2 3|1-254F 8, ReFE2EIH
5 R6.8.15 R6.5.9 0.0000075 3|1-254F 8, ReFEIEIE
5 R7.4.23 R6.11.14 0.00038 3|1-254F 8, ReFE2EIH
6 R7.6.9 R6.10.18 |/ \UTiLBitk Rt RRTIH (BHEBEABENERE (NO. 2) |BEIITHAEHR6—18—1 5e 90kg/h BX 0.0 10| BEAKBEADF-OIEVC A RAFRITEL RIEREF0.024
8 R6.11.12 R6.9.11|LyTd—#RA et /\BTHN(ATREEERK) |/\FHERI30 5a 8000kg/h | %7 0.0079 0.1
8 R6.11.12 R6.9.11 0.16 3
8 R6.11.12 R6.9.11 0.0 3| %E 5 52<0.0098
8 R6.11.12 R6.9.11 15a | 7917m/H 0.64 10




